
MAT 1190                       Review 1

1. Solve the linear equation:  
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2. Solve the linear inequality and graph the solution:  
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3. Solve the linear inequality and graph the solution:  3(x – 2) + 4 > 2(2x – 3)
4. Solve the three part linear inequality and graph the solution: 10 < 3x + 4 <19 
5. Solve the proportion: 
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Word problems

6. If a car can travel 300 miles on 15 gallons of gasoline, how many gallons will it take to drive 800 miles?

7. A test has twenty questions worth 100 points.  The test consists of True/False questions worth 3 points each and multiple choice questions worth 11 points each.  How many multiple choice questions are on the test?
8. The cost of adding a garage to a home is 5 times as much as the cost of painting the house.  If the garage addition costs $15,000, find the cost of painting the house.
9. There are about 200 calories in 50 grams of Swiss cheese.  Willie ate 70 grams of this cheese.  About how many calories were in the cheese that he ate if the number of calories varies directly as the weight of the cheese.
10. The volume, V, of a gas varies inversely as the pressure, p, in a container.  If the volume of a gas is 200cc when the pressure is 1.6 liters per square centimeter, find the volume (to the nearest tenth) when the pressure is 2.8 liters per square centimeter.
Answer key
1.    
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             3.    x < 4            4.   2 < x < 5             5.    
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6.   40 gallons                         7.  There are 5 multiple choice questions
.
8.  The cost of painting is $3000                9. 280 calories                10. 114.3cc
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